

P-18-21 Addendum 4 MBR Construction, Inc. Supplier Response

Event Information

Number: P-18-21 Addendum 4

Title: Construction Services for Pier Street West

Type: Request for Proposals

Issue Date: 3/24/2021

Deadline: 5/12/2021 02:00 PM (ET)

Notes: The City is seeking proposals from qualified firms to provide

construction services to the City for Pier Street West.

The City will receive sealed proposals until 2:00:00 P.M. (local), May 12, 2021. Proposals must be submitted electronically through the eBid System on or before the due date/time stated above. Any proposal received after the due date and time specified, will not be considered. Any uncertainty regarding the time a proposal is received will be resolved against the Proposer.

Proposer must be registered or

Proposer must be registered on the City's eBid System in order to view the solicitation documents and respond to this solicitation. The complete solicitation document can be downloaded for free from the eBid System as a pdf at: https://pompanobeachfl.ionwave.net/CurrentSourcingEvents.aspx. The City is not responsible for the accuracy or completeness of any documentation the Proposer receives from any source other than from the eBid System. Proposer is solely responsible for downloading all required documents. A list of

proposers will be read aloud in a public forum.

Contact Information

Contact: Jill Press Address: Purchasing

1190 NE 3rd Avenue

Building C

Pompano Beach, FL 33060

Phone: 954 (786) 4098

Email: purchasing@copbfl.com

MBR Construction, Inc. Information

Contact: Michael R. Boss Address: 1020 NW 51st Street

Fort Lauderdale, FL 33309

Phone: (954) 486-8404 Fax: (954) 486-9579

Email: mboss@mbrconstruction.com

By submitting this Response I affirm I have received, read and agree to the all terms and conditions as set forth herein. I hereby recognize and agree that upon execution by an authorized officer of the City of Pompano Beach, this Response, together with all documents prepared by or on behalf of the City of Pompano Beach for this solicitation, and the resulting Contract shall become a binding agreement between the parties for the products and services to be provided in accordance with the terms and conditions set forth herein. I further affirm that all information and documentation contained within this response to be true and correct, and that I have the legal authority to submit this response on behalf of the named Supplier (Offeror).

 Michael R. Boss
 mboss@mbrconstruction.com

 Signature
 Email

Submitted at 5/12/2021 12:46:02 PM

Requested Attachments

T1/T2 Form Tier1 - Tier 2 Compliance Form.pdf

Must be uploaded to the Response Attachment Tab

Proposal City of Pompano Beach - Pier Street West Rebid - MBR Construction Proposal.pdf

Must be uploaded to the Response Attachment Tab

Qualification of Bidders Form

Financial Statwement

Qualification of Bidders Form - Large Construction.pdf

Must be uploaded to the Response Attachment Tab

Must be marked "Confidential" and uploaded to the Response Attachment Tab

Prior Experience and References

that are side and include a foregoing and armoniance parties and afficient

Must provide applicable references and experience per the specifications

LicensesLicenses.pdf

Must upload proof of applicable licenses

Local Business Forms

Local Business and LOI Compliance.pdf

Financials - CONFIDENTIAL.pdf

Prior Experince and References.pdf

Must be completed and uploaded to the Response Attachment Tab

Response Attachments

COI.pdf

Sample Certificate of Insurance

Preliminary Schedule.pdf

Preliminary Schedule

Page 3 of 15 pages Vendor: MBR Construction, Inc. P-18-21 Addendum 4

Item Notes: DEMOLITION

310	d Attributes					
1	Terms & Conditions Check the box indicating you agree to the terms an Respond Yes	nd conditions of	f this solicitation.			
2	Acknowledgement of Addenda Check this box to acknowledge that you have revie Yes	wed all addend	da issued for this soli	citation.		
3	Delivery Time After Receipt of Order Enter the number of calendar days for delivery time 223	e after receipt o	of order.			
4	Vendor Certification Regarding Scrutinized Companies Lists (Any Dollor Amount) Section 215.4725, Florida Statutes, prohibits agencies from contracting (at any dollar amount) with companies on the Scrutinized Companies that Boycott Israel List, or with companies that are engaged in a boycott of Israel. As the person authorized to electronically sign on behalf of Respondent, I hereby certify by selecting the box below that the company responding to this solicitation is not listed on the Scrutinized Companies that Boycott Israel List. I also certify that the company responding to this solicitation is not participating in a boycott of Israel, and is not engaged in business operations in Syria or Cuba. I understand that pursuant to sections 287.135 and 215.4725, Florida Statutes, the submission of a false certification may subject company to civil penalties, attorney's fees, and/or costs. Select yes for Agree, No for disagree on the drop down menu.					
Bio	d Lines					
1	Clearing & Grubbing Quantity: 0.08 UOM: AC Item Notes: DEMOLITION	Unit Cost:	\$13,054.10	Total:	\$1,044.33	
2	Asphalt Pavement Removal Quantity: 1350 UOM: SY Item Notes: DEMOLITION	Unit Cost:	\$5.32	Total:	\$7,182.00	
3	Existing Limerock Removal Quantity: 275.76 UOM: CY Item Notes: DEMOLITION	Unit Cost:	\$52.35	Total:	\$14,436.04	
4	Existing 6" Subgrade Removal Quantity: 206.82 UOM: CY Item Notes: DEMOLITION	Unit Cost:	\$69.80	Total:	\$14,436.04	
5	Removal of Existing Concrete - Sidewalk Quantity: 643.82 UOM: SY	Unit Cost:	\$14.00	Total:	\$9,013.48	

6	Removal of Existing Type 'F' Curb Quantity: 288 UOM: LF Item Notes: DEMOLITION	Unit Cost:	\$0.27	Total:	\$77.76
7	Removal of Existing Drop Curb Quantity: 40 UOM: LF Item Notes: DEMOLITION	Unit Cost:	\$5.50	Total:	\$220.00
8	Removal of Existing Drainage Structure Quantity: 17 UOM: SY Item Notes: DEMOLITION	Unit Cost:	\$29.16	Total:	\$495.72
9	Utility Pipe, Remove & Dispose - 15" RCP Storm Quantity: 35 UOM: LF Item Notes: DEMOLITION		\$27.51	Total:	\$962.85
1 0	Utility Pipe, Remove & Dispose - 12" DIP W.M. Quantity: 11 UOM: LF Item Notes: DEMOLITION	Unit Cost:	\$45.05	Total:	\$495.55
1	Utility Pipe, Plug & Place Out of Service - 6" CIP \ Quantity: 438 UOM: LF Item Notes: DEMOLITION		\$50.22	Total:	\$21,996.36
1 2	Inlet Protection System Quantity: 10 UOM: EA Item Notes: DEMOLITION	Unit Cost:	\$83.35	Total:	\$833.50
1 3	Staked Turbidity Barrier - Nylon Reinforced PVC Quantity: 1057 UOM: LF Item Notes: ERROSION CONTROL	Unit Cost:	\$2.63	Total:	\$2,779.91
1 4	Line deleted as part of an Addendum				
1 5	Line deleted as part of an Addendum				
1 6	Inlets Type 'C' Quantity:2 UOM: EA Item Notes: DRAINAGE	Unit Cost:	\$3,056.13	Total:	\$6,112.26
1 7	Type P-9 Curb Inlet Quantity: 1 UOM: EA Item Notes: DRAINAGE	Unit Cost:	\$2,778.30	Total:	\$2,778.30

1 8	Type P-5 Curb Inlet Quantity: 1 UOM: EA	Unit Cost:	\$3,056.13	Total:	\$3,056.13
	Item Notes: DRAINAGE				
1 9	Line deleted as part of an Addendum				
2 0	Concrete Sidewalk and Driveways, 6" Thick Quantity: 876.92 UOM: SY Item Notes: PAVEMENT	Unit Cost:	\$55.12	Total:	\$48,335.83
2	Type F Concrete Curb & Gutter Quantity: 1145 UOM: LF Item Notes: PAVEMENT	Unit Cost:	\$31.06	Total:	\$35,563.70
2 2	Type D Concrete Curb Quantity: 29 UOM: LF Item Notes: PAVEMENT	Unit Cost:	\$19.16	Total:	\$555.64
2 3	Valley Gutter Quantity: 210 UOM: LF Item Notes: PAVEMENT	Unit Cost:	\$27.52	Total:	\$5,779.20
2 4	Detectable Warnings Quantity: 96 UOM: SF Item Notes: PAVEMENT	Unit Cost:	\$34.73	Total:	\$3,334.08
2 5	Superpave Asphaltic Concrete, Traffic E, PG76-2 Quantity: 213.46 UOM: TN Item Notes: PAVEMENT	22, SP-9.5 (See not Unit Cost:	tes) \$290.15	Total:	\$61,935.42
2 6	Optional Base Group 06 - 8" Limerock LBR=100 Quantity: 1262.5 UOM: SY Item Notes: PAVEMENT	min. Unit Cost:	\$33.71	Total:	\$42,558.88
2 7	Type B Stabilization Quantity: 1262.5 UOM: SY Item Notes: PAVEMENT	Unit Cost:	\$3.08	Total:	\$3,888.50
2 8	Milling Existing Asphalt Pavement, 1" Average De Quantity: 1033 UOM: SY Item Notes: PAVEMENT	Unit Cost:	\$7.78	Total:	\$8,036.74
2 9	Adjust Water Valves to Grade (Water, Sewer) Quantity: 3 UOM: EA	Unit Cost:	\$222.26	Total:	\$666.78

3 0	Adjust Existing Sewer Manholes to Grade Quantity: 3 UOM: EA Item Notes: PAVEMENT	Unit Cost:	\$444.53	Total:	\$1,333.59
3 1	Adjust Existing Drainage Manholes to Grade Quantity: 2 UOM: EA Item Notes: PAVEMENT	Unit Cost:	\$527.88	Total:	\$1,055.76
3 2	Adjust Miscellaneous Utilities Manholes to Grade Quantity: 2 UOM: EA Item Notes: PAVEMENT	Unit Cost:	\$527.88	Total:	\$1,055.76
3	Line deleted as part of an Addendum				
3 4	Clay Engraved Bricks 8 x 8 x 2-1/4 Quantity: 288 UOM: SF Item Notes: PAVEMENT	Unit Cost:	\$78.05	Total:	\$22,478.40
3 5	F&I 12" DIP Water Main Quantity: 13 UOM: LF Item Notes: WATER	Unit Cost:	\$173.15	Total:	\$2,250.95
3 6	12" Insertion Valve Quantity:1 UOM: EA Item Notes: WATER	Unit Cost:	\$11,113.20	Total:	\$11,113.20
3 7	F&I 12" DIP Elbow Quantity:4 UOM: EA Item Notes: WATER	Unit Cost:	\$1,250.24	Total:	\$5,000.96
3 8	F&I 12"x6" Tapping Saddle/Sleeve Quantity:1 UOM: EA Item Notes: WATER	Unit Cost:	\$8,557.16	Total:	\$8,557.16
3 9	F&I 6" DIP Water Main Quantity: 10 UOM: LF Item Notes: WATER	Unit Cost:	\$46.15	Total:	\$461.50
4 0	F&I 6" C-900 PVC Water Main Quantity: 475 UOM: LF Item Notes: WATER	Unit Cost:	\$74.14	Total:	\$35,216.50
4	F&I 6" Line Stop Assembly Quantity: 4 UOM: EA Item Notes: WATER	Unit Cost:	\$5,499.90	Total:	\$21,999.60

4 2	F&I 6" PVC Tee Quantity: 8 UOM: EA Item Notes: WATER	Unit Cost:	\$1,779.25	Total: \$14	,234.00
4 3	F&I 6" PVC 45 Bend Quantity: 2 UOM: EA Item Notes: WATER	Unit Cost:	\$1,166.89	Total: \$2	2,333.78
4 4	F&I 6" Valve Assembly Quantity: 8 UOM: EA Item Notes: WATER	Unit Cost:	\$2,150.52	Total: \$17	7,204.16
4 5	F&I 6" CAP/PLUG Quantity: 3 UOM: EA Item Notes: WATER	Unit Cost:	\$1,185.40	Total: \$3	5,556.20
4 6	F&I 2" PE Water Service Quantity: 120 UOM: LF Item Notes: WATER	Unit Cost:	\$45.85	Total: \$5	5,502.00
4 7	F&I 6"x6" Tapping Saddle/Sleeve Quantity:1 UOM: EA Item Notes: WATER	Unit Cost:	\$1,077.30	Total: \$1	,077.30
4 8	F&I 6"x2" Tapping Saddle/Sleeve Quantity:4 UOM: EA Item Notes: WATER	Unit Cost:	\$1,077.30	Total: \$4	,309.20
4 9	F&I 2" Valve Assembly Quantity:4 UOM: EA Item Notes: WATER	Unit Cost:	\$983.75	Total: \$3	3,935.00
50	F&I Sample Point Quantity: 3 UOM: EA Item Notes: WATER	Unit Cost:	\$1,353.24	Total: \$4	,059.72
5 1	F&I 4" DIP Water Main Quantity: 10 UOM: LF Item Notes: WATER	Unit Cost:	\$44.45	Total:	\$444.50
5 2	F&I 6"x4" TEE Quantity: 1 UOM: EA Item Notes: WATER	Unit Cost:	\$2,500.47	Total: \$2	2,500.47

5 3	F&I 4" DIP 22.5 H Bend Quantity: 2 UOM: EA Item Notes: WATER	Unit Cost:	\$1,486.67	Total:	\$2,973.34
5 4	F&I 4" Valve Assembly Quantity:1 UOM: EA Item Notes: WATER	Unit Cost:	\$2,084.29	Total:	\$2,084.29
5 5	Adjust & Modify Existing Fire Hydrant Quantity:1 UOM: EA Item Notes: WATER	Unit Cost:	\$2,556.04	Total:	\$2,556.04
5 6	Adjust Meter Box Quantity: 2 UOM: EA Item Notes: WATER	Unit Cost:	\$416.75	Total:	\$833.50
5 7	Thermoplastic Standard White Solid 12" - Crossv Quantity: 531 UOM: LF Item Notes: PAVEMENT MARKING AND SIGNAGE		\$5.35	Total:	\$2,840.85
5 8	Thermoplastic Standard White Solid 24" - Crossv Quantity: 462 UOM: LF Item Notes: PAVEMENT MARKING AND SIGNAGE		\$8.33	Total:	\$3,848.46
5 9	Thermoplastic Standard White Solid 6" Quantity: 0.22 UOM: GM Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$12,845.12	Total:	\$2,825.93
6 0	Thermoplastic Standard White Solid 18" For Che Quantity: <u>47</u> UOM: <u>LF</u> Item Notes: PAVEMENT MARKING AND SIGNAGE	vrons- Crosswalk Unit Cost:	\$6.57	Total:	\$308.79
6 1	Thermoplastic Standard Yellow Solid 6" Quantity: 0.18 UOM: GM Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$12,852.00	Total:	\$2,313.36
6 2	Painted Standard White Solid 4" - Street Parking Quantity: 0.014 UOM: GM Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$2,268.00	Total:	\$31.75
6 3	Thermoplastic Standard White Arrow Quantity: 4 UOM: EA Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$144.59	Total:	\$578.36

6 4	Relocate Single Post Sign Quantity: 2 UOM: EA Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$972.41	Total:	\$1,944.82
6 5	Remove Single Post Sign Quantity: 2 UOM: EA Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$111.13	Total:	\$222.26
6	F&I Blue/Blue RPM Quantity: 3 UOM: EA Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$8.31	Total:	\$24.93
6 7	F&I Yellow/Yellow RPM Quantity: 22 UOM: EA Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$8.35	Total:	\$183.70
6 8	F&I White/Red RPM Quantity: 19 UOM: EA Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$8.35	Total:	\$158.65
6 9	Wave Design Quantity: 1415 UOM: SF Item Notes: PAVEMENT MARKING AND SIGNAGE	Unit Cost:	\$19.52	Total:	\$27,620.80
7 0	F&I Rectangular Rapid Flashing Beacon Complete Quantity: 2 UOM: EA Item Notes: PAVEMENT MARKING AND SIGNAGE	_		Total:	\$69,457.50
7	5KVA Transformer -Furnish & Install Quantity:1 UOM: EA Item Notes: ELECTRICAL	Unit Cost:	\$3,889.62	Total:	\$3,889.62
7 2	Time Clock Quantity:1_ UOM: EA Item Notes: ELECTRICAL	Unit Cost:	\$388.96	Total:	\$388.96
7 3	PQ Protection Model PQCIA 120/240 - TVSS Quantity:1 UOM: EA Item Notes: ELECTRICAL	Unit Cost:	\$1,111.32	Total:	\$1,111.32
7 4	Photo Cell Quantity: 10 UOM: EA Item Notes: ELECTRICAL	Unit Cost:	\$38.90	Total:	\$389.00

7 5	GFCI WP Receptacle in Nema 4X SS Enclosure Quantity:1 UOM: EA Item Notes: ELECTRICAL	Unit Cost:	\$1,111.32	Total:	\$1,111.32
7 6	RGS Conduit Quantity: 2096 UOM: LF Item Notes: ELECTRICAL	Unit Cost:	\$13.12	Total:	\$27,499.52
7 7	5KVA, 277V 1PH Primary, 120/240V 1PH Second Quantity:1_ UOM: _EA		X SS Enclosure \$2,778.30	Total:	\$2,778.30
7 8	20 AMP, Single pole, 277V Circuit Breaker in Nem Quantity: 1 UOM: EA Item Notes: ELECTRICAL		sure \$1,111.32	Total:	\$1,111.32
7 9	EOMH, Nema 4X, SS Lighting Contactor Quantity:1 UOM: EA Item Notes: ELECTRICAL	Unit Cost:	\$353.81	Total:	\$353.81
8 0	Electrical Panel "A", Nema 4X SS Quantity:1 UOM: EA Item Notes: ELECTRICAL	Unit Cost:	\$388.96	Total:	\$388.96
8 1	#6 Ground Wire Bound Mechanical to Pedestal Quantity: 145 UOM: LF Item Notes: ELECTRICAL	Unit Cost:	\$2.69	Total:	\$390.05
8 2	5/8" x 10' Cooper Clad Ground Rod Exothermic Clause Quantity: 22 UOM: EA Item Notes: ELECTRICAL	Connection Unit Cost:	\$44.63	Total:	\$981.86
8 3	2#8 & 1#8 GND in 2"C. Quantity: 1650 UOM: LF Item Notes: ELECTRICAL	Unit Cost:	\$2.36	Total:	\$3,894.00
8 4	2#3 & 1#3 GND in 2"C. Quantity: 1650 UOM: LF Item Notes: ELECTRICAL	Unit Cost:	\$2.36	Total:	\$3,894.00
8 5	3#6 in 2"C. Quantity: 699 UOM: LF Item Notes: ELECTRICAL	Unit Cost:	\$4.77	Total:	\$3,334.23

86	WP Junction Box Quantity: 13 UOM: EA Item Notes: ELECTRICAL	Unit Cost:	\$726.63	Total:	\$9,446.19
8 7	Arlington Gard-N-Post with WP/GFCI Receptacle Quantity: 13 UOM: EA Item Notes: ELECTRICAL		\$136.78	Total:	\$1,778.14
88	LED Lighting UCL-T3-56LED-5K-700 Pole Mount Quantity: 10 UOM: EA Item Notes: ELECTRICAL		\$1,055.75	Total:	\$10,557.50
8 9	Trenching Quantity: 1040 UOM: LF Item Notes: ELECTRICAL	Unit Cost:	\$5.87	Total:	\$6,104.80
9	22'-0" PRESTRESSED CONCRETE POLE Direct Quantity: 10 UOM: EA Item Notes: ELECTRICAL		TYPE P-II SERVICE \$7,182.76	POLE Total:	\$71,827.60
9	Medjool Date Palm Quantity: 12 UOM: EA Item Notes: LANDSCAPE NE 2nd STREET	Unit Cost:	\$7,445.84	Total:	\$89,350.08
9 2	Silver Buttonwood Quantity: 3 UOM: EA Item Notes: LANDSCAPE NE 2nd STREET	Unit Cost:	\$3,272.72	Total:	\$9,818.16
9 3	Bromeliads Quantity: 44 UOM: EA Item Notes: LANDSCAPE NE 2nd STREET	Unit Cost:	\$88.79	Total:	\$3,906.76
9 4	Crown of Thorns Quantity: 114 UOM: EA Item Notes: LANDSCAPE NE 2nd STREET	Unit Cost:	\$29.74	Total:	\$3,390.36
9 5	Green Island Ficus Quantity: 186 UOM: EA Item Notes: LANDSCAPE NE 2nd STREET	Unit Cost:	\$25.27	Total:	\$4,700.22
9 6	Shore Juniper Quantity: 148 UOM: EA Item Notes: LANDSCAPE NE 2nd STREET	Unit Cost:	\$26.75	Total:	\$3,959.00

9 7	Mulch / Soil / Staking Quantity: 16.06 UOM: CY Item Notes: LANDSCAPE NE 2nd STREET	Unit Cost:	\$371.91	Total:	\$5,972.87
9 8	Irrigation Quantity: 1735 UOM: SF Item Notes: LANDSCAPE NE 2nd STREET	Unit Cost:	\$9.66	Total:	\$16,760.10
9	Medjool Date Palm Quantity:2 UOM: _EA Item Notes: LANDSCAPE SGT CHRIS REYKA MEN		\$7,369.87	Total:	\$14,739.74
1 0 0	Green Buttonwood Quantity: 3 UOM: EA Item Notes: LANDSCAPE SGT CHRIS REYKA MEN		\$268.00	Total:	\$804.00
1 0 1	Jatropha Quantity: 6 UOM: EA Item Notes: LANDSCAPE SGT CHRIS REYKA MEN		\$282.55	Total:	\$1,695.30
1 0 2	Relocated Sabal Palm Quantity:2 UOM: EA Item Notes: LANDSCAPE SGT CHRIS REYKA MEN	<u> </u>	\$486.48	Total:	\$972.96
1 0 3	Bromeliads Quantity: _26 UOM: EA Item Notes: LANDSCAPE SGT CHRIS REYKA MEN		\$86.27	Total:	\$2,243.02
1 0 4	Silver Buttonwood Quantity: 60 UOM: EA Item Notes: LANDSCAPE SGT CHRIS REYKA MEN		\$25.25	Total:	\$1,515.00
1 0 5	Green Island Ficus Quantity: 45 UOM: EA Item Notes: LANDSCAPE SGT CHRIS REYKA MEN		\$25.30	Total:	\$1,138.50
1 0 6	Ixora Quantity: 30 UOM: EA Item Notes: LANDSCAPE SGT CHRIS REYKA MEN	<u> </u>	\$32.69	Total:	\$980.70
1 0 7	Wax Jasmine Quantity: 75 UOM: EA	<u> </u>	\$23.77	Total:	\$1,782.75

1 0 8	Sod Quantity: 1000 UOM: SF Item Notes: LANDSCAPE SGT CHRIS REYKA MEMO		\$0.84	Total:	\$840.00
1 0 9	Mulch / Soil / Staking Quantity: 9.28 UOM: CY Item Notes: LANDSCAPE SGT CHRIS REYKA MEMO		\$449.08	Total:	\$4,167.46
1 1 0	Irrigation Quantity: 2002 UOM: SF Item Notes: LANDSCAPE SGT CHRIS REYKA MEMO		\$8.38	Total:	\$16,776.76
1 1 1	Concrete Pads Quantity: 100 UOM: SF Item Notes: HARDSCAPE SGT CHRIS REYKA MEMO		\$11.11	Total:	\$1,111.00
1 1 2	Pavers Quantity: 565 UOM: SF Item Notes: HARDSCAPE SGT CHRIS REYKA MEMO	·	\$16.72	Total:	\$9,446.80
1 1 3	Bench Quantity: 10 UOM: EA Item Notes: HARDSCAPE SGT CHRIS REYKA MEMO	<u></u>	\$4,811.56	Total:	\$48,115.60
1 1 4	Trash Receptacle Quantity:2 UOM: EA Item Notes: HARDSCAPE SGT CHRIS REYKA MEMO		\$2,778.30	Total:	\$5,556.60
1 1 5	Maintenance of Traffic Quantity:1 UOM: LS Item Notes: MISCELLANEOUS	Unit Cost:	\$42,230.16	Total:	\$42,230.16
1 1 6	Testing and Miscellaneous Quantity:1 UOM: LS Item Notes: MISCELLANEOUS	Unit Cost:	\$12,224.52	Total:	\$12,224.52
1 1 7	Mobilization Quantity:1 UOM: LS Item Notes: MISCELLANEOUS	Unit Cost:	\$29,434.10	Total:	\$29,434.10
1 1 8	Survey/Layout/Record Drawings Quantity:1 UOM: LS Item Notes: MISCELLANEOUS	Unit Cost:	\$8,913.24	Total:	\$8,913.24

1 1 9	Bond Quantity: 1 UOM: LS Item Notes: MISCELLANEOUS	Unit Cost:	\$14,742.00	Total:	\$14,742.00
1 2 0	Professional Video-Pre & Post Construction Quantity:1 UOM: LS Item Notes: MISCELLANEOUS	Unit Cost:	\$2,222.60	Total:	\$2,222.60
1 2 1	Utility Coordination (FPL/AT&T/Comcast) Quantity:1 UOM: LS Item Notes: MISCELLANEOUS	Unit Cost:	\$2,500.00	Total:	\$2,500.00
1 2 2	Contingency (7%) Quantity:1 UOM: LS Item Notes: MISCELLANEOUS	Unit Cost:	\$77,592.45	Total:	\$77,592.45
1 2 3	Permit Fees (Allowance 3% of Total Construction Quantity:1 UOM: LS Item Notes: MISCELLANEOUS	·	\$33,253.91	Total:	\$33,253.91
1 2 4	Indemnification Quantity:1 UOM: LS Item Notes: MISCELLANEOUS	10:	\$10.00	Total:	\$10.00
1 2 5	Temporary Flushing Outlet Quantity: 1 UOM: EA	Unit Cost:	\$4,082.40	Total:	\$4,082.40
1 2 6	4" Cut-in Quantity: 1 UOM: EA	Unit Cost:	\$4,082.40	Total:	\$4,082.40

Response Total: \$1,219,324.06